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B ØD G1 G2 H1 H2 J K1 K2 M P

425 425 248 31 46 500 500 335 449 404 833 325

600 600 313 33 48 550 550 353 624 604 1003 500

775 775 448 45 60 550 750 498 799 754 1171 675

1050 1050 498 45 60 600 800 523 1074 1054 1451 950

( -E1...-E3)

*

VD

E6-C-0

(RAL9010)

RAL

VD-V-... VD-H-...

VD-V-K-... VD-H-K-...  *

VD-V-S-... VD-H-S-...  *
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300 mm

1
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kg

425 600 775 1050

VD-0 4 7 9 17

VD-0-E1...-E3 6 9 12 23

VD-V 11 19 29 51

VD-H 11 19 34 57

Collar -K 3 6 7 8

Protection grid-S 3 6 7 8

VD
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TROX-TDC
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V
·

in l/s or in m3/h:

A in m:

H1 in m:

H1 in m/s: 在H1距离处两个风口之间的平均风速

L in m: X + H1

L in m/s:

L max in m:

t Z in K:

t L in K: 在L=A/2+H1或离墙L距离处室温与送风温度之间的温差

Aeff in m2:

pt in Pa:

LWA in dB(A): A-

LWNC : NC

LWNR : LWNR = L WNC +1

LA

H
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L

vH1

Aeff m2

425 0,0307 0,0781

600 0,0685 0,1819

775 0,1242 0,3405

1050 0,2247 0,6358

B
X

A X

L

vL

v

v
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1
VD-H ( )

L wNC = LwA -4 dB

2
VD-V ( )

: VD-V; 425

: V
·

= 300 l/s

:

2:

pt = 55 Pa

LWA = 48 dB(A)

LWNC = 43 NC
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3 送风角45° 5 75°

4 60° 6
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风量 V
· 单位 l/s

L
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V
·

l/s

V
·

l/s

VD-V

V
.

min V
.

min V
.

max V
.

max LWA

m3/h    l/s      m3/h     l/s      dB(A)

425 300 83 900 250 45

600 750 208 1800 500 45

775 1300 361 2900 805 45

1050 2400 667 4000 1110 45

m3/h = l/s · 3.6
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VD 425 VD 600
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:

                      V
·

= 300 l/s

,  425                        VD-V

:

tz = – 8 K

tz = + 12 K

                            L WA = 55 dB(A)

m00.3=A

 = A/2        L =   + (6-1.8) = 5.70 m

                        H = 6.00 m

53 dB(A) 55 dB(A)

6, 7 :

V
·

= 300 l/s

tZ = + 12 K

L max = 4.80 m

7:

A = 3.00 m

H1 = 6.00 – 1.80 = 4.20 m

v- H1 < 0.15 m/s

:
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L

1.4。

3

2

0.6
0

0.5
0

0.4
0

0.3
0

0.2
0

0.25

0.20

0.15

0.10

0.08

0.06

0.6
0

0.5
0

0.4
0

0.3
0

0.2
0

0.25

0.20

0.15

0.10

0.08

0.06

v H
1
=

0
.1

5
–

0
.3

0
 m

/s

H
1
=

0
.1

5
–

0
.3

0
 m

/s

t L / t Z

- v-

- -



VD 775 VD 1050

9

11 A 规格775 13 A 1050

12 14775 1050

: – 10 K

7 。

图8, 8 :

L = A/2 + H1

L = 1.50 + 4.20 = 5.70 m

ƒL = 0.21 m/s

tL/ t Z = 0.065

tL = – 8 · 0.065 = – 0.52 K
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V

         H

230 V~, 50 Hz
- E 1

24 V~, 50 Hz
- E 2

24 V~, 50 Hz, 2…10 V-,
E 3

10

/ / / / /VD - V - E1 - K RAL 9016600 0 0 P1

3.8 m

VD-0: 4

VD-V: VD-0

VD-H：    VD-0

VD-...-E ...:

-E1 – - ; 230 V, 50 Hz
-E2 – - ; 24 V, 50 Hz
-E3 – ; 24 V, 50 Hz,

2 ... 10 V DC

K: VD-V

VD-H，
S: VD-V

   VD-H

E6-C-0, RAL...

RAL...

RAL9010

RAL...

: TROX
: VD - V - E1 - K / 600 / 0 / 0 / P1 / 9016

0
E6-C-0

P1
RAL 9010 (GE 50%) 2)

RAL 9006 (GE 30%) 2)

RAL … (GE 70%) 2)

425
600
775

1050

1)

2) GE =

1) K
1) S


